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Working Variables HResult Variables
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upon results

Statement of Results

Number of Operation
Nature of Operation

1
Viz = 1 2n-1
Wiy = “% g HBL

"vig
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vy o= : ;
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3 :
Ve ,
Byg = Byy 3\.’(; = -2 ) . 1
Iy, o dy, . |5 lyg = 0 2p  2n—1 2n-2
Vg = Vg Wy, = = . {7"—r‘—.|—}:-“3

;Vn
Viz
i\f'm
Vig
vy
LVI

"Wag % 5V

Wig + vy {Ag + BiAq + B3Ag}

Qvln _ 1 vy

ovid = ]
Vaq Vaq
Ty, = 1y ;
11 ll =n+l=4+1=45
Vg =1vy

5\/6 = 0\-'0 by a Variable-card.
5\;7 — UVT by a Variable-card.
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floata=3,b =4, c = 5;

Int t=0,

If (a+b>c)++t;

If (a+c>Db) ++t;

If (b +c>a)++t;

If (t == 3) Console.WriteLine(true);
else Console.WriteLine(false);
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floata=3,b =4,¢c=5;

if (@a+b<=c)
Console.WriteLine(false);

elseif (a+c<=Dh)
Console.WriteLine(false);

else if (b + c <=a)
Console.WriteLine(false);

else
Console.WriteLine(true);




First:
floayad =/3,/b = 4/c = 5;
if(atb<=c|latc<=Db||b+c<=a)
Console.WriteLine(false );
else
Console.WriteLine(true );

Second:
floata=3,b=4,c=05;
ifa+tb>c&&a+c>b&&b+c>a)
Console.WriteLine(true);
else
Console.WriteLine(false);

(o[

I(P |] Q)=IP &&!Q
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floata=3,b=4,c=5;
Console.WriteLine (a+b>c&&a+c>b&&b + ¢ > a?true:false );

floata=3,b=4,c=5;
Console.WriteLine (a+b>c&&a+c>b&&b+c>a);
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Strlng X — IIVBII, Y — IIC#II’ T;

Console.WriteLine("{0},{1}",X,Y);

$ - U
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X=A;
A=B:;
B=X;
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intX=2Y=5,T: pos o,
X = X+Y;

Y = X-Y;

X = X-Y;

Console.WriteLine("{0},{1}",X,Y);

ntX=2,Y=5T;

X+=Y;
Y = X-Y;
X-=Y;

Console.WriteLine("{0},{1}",X,Y);
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intX=2Y=5,T: Rom ol
X = X*Y;

Y = X/Y;

X = X/Y;

Console.WriteLine("{0},{1}",X,Y);

ntxX=2,Y=5T,;

X *=Y;

Y = X/Y;

X/=Y;
Console.WriteLine("{0},{1}",X,Y);
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ntX=2,Y=5,T:; pokaa ol
X = XNY;

Y = XAY;

X = XNY;

Console.WriteLine("{0},{1}",X,Y);

ntxX=2,Y=5T,;

XN=Y;

Y N=X;

XN=Y:
Console.WriteLine("{0},{1}",X,Y);
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#include "stdafx.h" e OF

int _tmain(int argc, _TCHAR* argv][])
{

int x=4,y=7;

X/\=y/\=X/\=y;
printf("\n%d,%d\n",x,y);

return O;

}
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static void swap( ref int x, ref inty)

{ ﬂ O'J

}

static void Main(string[] args)
{
floatX=2,Y=Db;
swap( ref X, refY);
Console.WriteLine("{0},{1}",X,Y);
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static void swap( ref int x, ref inty)

{ “ O'J

}

static void swap( ref float x, ref float y)
{
float t;
t =X
X=Y;
Y=t
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unsafe static void swap( float* x, float* y)

{ :m 0')
float t;
t = *x;
*X — “ky’
*y = t’

}
unsafe static void Main(string[] args)

{
float X=2,Y =5;
swap( &X, &Y);
Console.WriteLine("{0},{1}",X,Y);
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ConsoleApplicationl ® > QailieTiRe3 v
Application _ _ - -
m Configuration: | Active (Debug) -| Platform: |Act|1.re (Any CPU) b |
Build Events General "
Debug " o
Cenditional compilation symbols: |
Resources
Define DEBUG constant
Services
. Define TRACE constant
Settings 3
Reference Paths Platform target: |}5|.r1]|" CPU -
5|gr||r|g Prefer 32-nt
Security Allow unsafe code _
Publish ] Optimize code iR
Code Analysis

Errors and warnings

Warning level: 4 -

Suppress warnings:

Treat warnings as errors

@ Mane
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static void swap<T>(ref T x, ref T y)

{ w O'J

static void Main(string[] args)

{
double X=2,Y = b;
swap(ref X, ref Y);
Console.WriteLine("{O0},{1}",X,Y);

}
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int a, b;

a = int.Parse(Console.ReadLine()); "Enter A"
b = int.Parse(Console.ReadLine()); obta
if (a>b) I

Console.WriteLine(a); 7 "Enter B"

GETB

else

Console.WriteLine( b); =

Yes @ No
PUT A PUT B
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int a, b,c;

a = int.Parse(Console.ReadLine()); .

b = int.Parse(Console.ReadLine()); CETA /

c = int.Parse(Console.ReadLine()); ElB

if (a>b) GEIB /

Iif (@>c) /
Console.WriteLine(a); e

else E/;B\ o
Console.WriteLine(c);

else

if (b>c)
Console.WriteLine(b);

else PUT A PUT CY PUT BY PUTCY |
Console.WriteLine(c); [; [; E; [; |

— b







int a, b,c;

a = int.Parse(Console.ReadLine());

b = int.Parse(Console.ReadLine());

¢ = int.Parse(Console.ReadLine());

if (@a>b &&a>c) Console.WriteLine(a);
if (lb>a&&b>c) Console.WriteLine(b);
if (c>a &&c>Db) Console.WriteLine(c);

....... Ao
% B=A and B>C >L
....... e
f PUT BY /
PN




int a, b,c,maximum;

a = int.Parse(Console.ReadLine());
b = int.Parse(Console.ReadLine());
c = int.Parse(Console.ReadLine());
maximum = a;

If (maximum < b) maximum = b;

If (maximum<c) maximum=c;
Console.WriteLine(maximum );

Sl i Qo gl
* L X 4
"Enter C"
GETC

I

Maximum «— A

Yes Maximum=B No
,,,,,,, s
Maximum <— B
l A
Yos Maximum=C >—ND
....... ~
Maximum «— C
L
1

/ PUT Maximum? L
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//defenition and input data maximum « a[1]
const int SIZE = 5; -
int[] number=new int[SIZE]; !
for (inti=0;i< SIZE; i++)

numberli]=int.Parse(Console.ReadLine());
//process
Int maximum = number[O];
for (inti=0;i<SIZE ; i++)

If (maximum<number [i])
maximum = number [i]; iz < afi]

//output

L

I
Console.WriteLine(maximum );

/ PUT maximumY| L




const int SIZE = 5;

int[] number=new int[SIZE];

for (int i = @; 1 < SIZE; i++)
number[i]=int.Parse(Console.ReadLine());

//process
for (int i = @; 1 < SIZE; i++)
if (number[@] < number[i]) t < afi]
1
{
int temp = number[i]; ali] < a[l]
1
number[i] = number[0];
a[l] <t
number[@] = temp; [1

}
//output

Console.WriteLine(number[0]);

i<—i+1

L
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//defenition and input data
const int SIZE = 5;

int[] number=new int[SIZE]; ‘ 17 94
for (int i = @; i < SIZE; i++)
number[i]=int.Parse(Console.ReadlLine());
//process
for (int j = ©; j < SIZE ; j++) 8 ‘ 8

{

for (int i = j; i < SIZE; i++)
if (number[j] > number[i]) 94 17
{

int temp = number[i];

T 13 13
;/output 20 20

foreach (int item in number )

{
}

Console.WriteLine(item );
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0 1 2 3 4

17 8 94 13 20
8 17 94 13 20
8 17 94 13 20
8 17 13 94 20
8 17 13 20 94
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const int SIZE = 5;

int[] number=new int[SIZE];

for (int 1 = @; i < SIZE; i++)
number[i]=int.Parse(Console.Readline());

//process

for (int compare = @; compare < SIZE-1 ; compare++)
if (number[compare]>number[compare+l])

{
int temp = number[compare];
number[compare] = number[compare + 1];
number[compare + 1] = temp;
}
Console.WritelLine(number[SIZE-1]);
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0 1 2 3 4
8 17 13 20 94
8 17 13 20 94
8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
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o) 1 2 3 4,

8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
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o) 1 2 3 4,

8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
8 13 17 20 94
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//deTenition and 1nput data
const int SIZE = 5;
int[] number = new int[SIZE];
for (int 1 = @; 1 < SIZE; i++)
number[i] = int.Parse(Console.ReadlLine());
//process
for (int pass = @; pass < SIZE - 1; pass++)
for (int compare = @; compare < SIZE - 1; compare++)
if (number[compare] > number[compare + 1])

{
int temp = number[compare];
number[compare] = number[compare + 1];
number[compare + 1] = temp;

}

foreach (int item in numberﬂ
Console.WriteLine(item):
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SIZE-1
1 SIZE-1-1 SIZE-1
SIZE-1-2 1 SIZE-2
SIZE-3
SIZE-2 SIZE-1-(SIZE-2)=1
SIZE-1 SIZE-1-(SIZE-1)=0 SIZE-2 1

pass SIZE-1-pass SIZE-1
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const int SIZE = 5;
int[] number = new int[SIZE];
for (int 1 = @; 1 < SIZE; i++)
number[i] = int.Parse(Console.ReadlLine());
//process
for (int pass = @; pass < SIZE - 1; pass++)
for (int compare = @; compare <|SIZE - 1-pasq; compare++)
if (number[compare] > number|compare + 1])

{
int temp = number[compare];
number[compare] = number[compare + 1];
number[compare + 1] = temp;

I

foreach (int item in number)
Console.Writeline(item);



1 SIZE-2
SIZE-3
SIZE-2 1

(BUBBLE)awef ol gl sl

SIZE-2 SIZE-2
SIZE-2 SIZE-3
1 1
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const int SIZE = 5;
int[] number = new int[SIZE];
for (int 1 = @; 1 < SIZE; i++)
number[i] = int.Parse(Console.ReadlLine());
//process
for (int pass = SIZE-1; pass >@; pass--)
for (int compare = @; compare < pass; compare++)
if (number[compare] > number[compare + 1])

{
int temp = number[compare];
number[compare] = number[compare + 1];
number[compare + 1] = temp;

}

foreach (int item in number)
Console.WriteLine(item);
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//deTenition and 1nput data
const int SIZE = 5;
int[] number = new int[SIZE];
for (int i = @; i < SIZE; i++)
number[i] = int.Parse(Console.ReadlLine());
//process
bool swap;
do
{
swap = false;
for (int compare = @; compare < SIZE-1; compare++)
if (number[compare] > number[compare + 1])

{
int temp = number[compare];
number[compare] = number[compare + 1];
number[compare + 1] = temp;
swap = true;

}

} while (swap);
foreach (int item in number)
Console.Writeline(item);
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